





**35<sup>TH</sup> FEDERATION CUP VOLLEYBALLCHAMPIONSHIP** FOR MEN AND WOMEN

> Organized by **KIIT UNIVERSITY, BHUBANESWAR, ODISHA** Under the auspices of

# **VOL**LEYBALL FEDERATION OF INDIA 85 **CAJASTHAN VOLLEYBALL ASSOCIATION**

From 9<sup>th</sup> to15<sup>th</sup> March 2022 Venue -- Nagar Nigam Stadium, Bhilwara, Rajasthan



Get Involved Keep the Ball Flying

# **VOLLEYBALL FEDERATION OF INDIA** OFFICE BEARERS

President Prof. (Dr.) ACHYUTA SAMANTA Hon'ble Member of Parliament **Executive Vice President** Mr. RAJKUMAR Secretary General Mr. ANIL CHOUDHARY Chief Executive Officer Mr. RAMAVTAR SINGH JAKHAR Chairman & Vice President Mr. S. VASUDEVAN Vice-Chairman Mr. RAHUL KASWAN Hon'ble Member of Parliament Treasurer Mr. SUNIL KUMAR TIWARI Vice-President Mr. RATHIN ROY CHAUDHURY Mr. VIJAYPAL SINGH Mr. ANAND SHANKER RAJHANS Mr. RAM LAL VERMA Mr. PGVR NAIDU Mr. SUSANTO BISHWA SARMA Dr. LALMALSAWMA NAGHAKA Mr. GURJEET SINGH AUJLA Hon'ble Member of Parliament Associate Vice-Presidents Mr. SHEKHAR BOSE Mr. IRVIN SOARES Mr. BRIJESH PATHAK Hon'ble Law Minister, Govt. of UP Dr. D. K. SINGH Associate Secretaries MR. KULDIP MAGOTRA PROF. M. NALAKATH BASHEER Mr. RAMAN R. PATEL Joint Secretaries Prof. BALASAHEB SURYAWANSI Mr. SUBE SINGH Mr. JAGIR SINGH RANDHAWA Mr. L.BALESHWOR SINGH Mr. AMLAN CHAKRABORTY Mr. RAMESH BABU Associate Joint Secretary Dr. GAGANENDU DASH Mr. J. NADARAJAN Mr. SIDDHARTH DALUJA Women Member Mrs. JAISAMMAMOOTHDEM Ms. VAISHALI PHADTARE Mr. K. VASAVAN Assistant Secretary



35<sup>th</sup> Federation Cup Volleyball Championship for Men and Women VENUE: Nagar Parishad Stadium, Bhilwara, Rajasthan 9<sup>th</sup> to 15<sup>th</sup> March 2022



# Schedule

Day 6	14	.03.2	2022	М	onday
Match No		Matc	hes	Phase	Time
F 09	<b>KERALA</b> (Red/Blue)	Vs	<b>KARNATAKA</b> (White/Blue)	RRL	1600
M 13	HARYANA (Black/Green)	Vs	<b>RAILWAYS</b> (White)	SF	1730
M 14	SERVICES (Red)	Vs	<b>PUNJAB</b> (Yellow/Green)	SF	1900

\*\*Note- Teams are instructed to follow the timings strictly and report 30 minutes before schedule time.

Sunil Tiwari Chairman, Control Committee



35<sup>th</sup> Federation Cup Volleyball Championship for Men and Women VENUE: Nagar Parishad Stadium, Bhilwara, Rajasthan 9<sup>th</sup> to 15<sup>th</sup> March 2022



# Action of the day







35<sup>th</sup> Federation Cup Volleyball Championship for Men and Women VENUE: Nagar Parishad Stadium, Bhilwara, Rajasthan 9<sup>th</sup> to 15<sup>th</sup> March 2022



#### MATCH RESULTS - MEN - ROUND 2 (KNOCK OUT MATCHES)

#### FINAL RANKINGS

Position	Teams
Gold	
Silver	
Bronze	
Fourth	

#### GOLD MEDAL MATCH

NA #	Data	Toom		Set		Result	per set (	ooints)		Total	Timo
M # Date Teams				Sei	1	2	3	4	5	Points	Time
		Bt.	Bt.								

#### **BRONZE MEDAL MATCH**

M #	Date	Toom	s Set		Result p	per set (j	ooints)		Total	Timo
IVI #	Dale	leam	S Sei	1	2	3	4	5	Points	Time
		Bt.								

#### **SEMI FINALS**

M #	Date		Toom	0	Set		Result	per set (	(points)		Total	Time
IVI #	Dale		Team	5	Set	1	2	3	4	5	Points	Time
M 13	14.03.22	Haryana	Bt.	Railways	3-1	29-27	14-25	25-21	25-21		93-94	118
M 14	14.03.22	Services	Bt.	Punjab	3-1	26-28	25-20	25-19	25-19		101-86	108



35<sup>th</sup> Federation Cup Volleyball Championship for Men and Women VENUE: Nagar Parishad Stadium, Bhilwara, Rajasthan 9<sup>th</sup> to 15<sup>th</sup> March 2022



#### MATCH RESULTS - MEN - ROUND 1 (LEAGUE MATCHES)

#### Pool A

M #	Date		Team		Set		Result	per set	(points)		Total	Time
IVI #	Dale		Tean	15	Sel	1	2	3	4	5	Points	Time
M 01	09.03.22	Punjab Bt. Tamil Nadu Harvana Bt Karnataka			3-1	23-25	25-19	25-21	25-19		98-84	90
M 03	10.03.22	Haryana	Bt.	Karnataka	3-0	25-22	25-21	25-19			75-62	68
M 05	11.03.22	Haryana	/			25-16	25-15	27-25			77-56	68
M 07	12.03.22	Tamil Nadu	Bt.	Karnataka	3-2	25-21	23-25	27-25	25-21	15-09	115-105	121
M 09	13.03.22	Punjab	Bt.	Karnataka	3-1	22-25	25-12	25-14	25-23		97-74	88
M 11	13.03.22	Haryana Bt. Tamil Nadu			3-2	16-25	25-13	25-16	22-25	15-13	103-92	105

#### TEAMS RANKING – POOL A

Rk	Team		Mat	tches			F	Results	Detail	s			Set	S		Points	S
ΓK	ream	Ρ	W	L	Pts	3-0	3-1	3-2	2-3	1-3	0-3	W	L	Ratio	W	L	Ratio
1	Haryana	3	3	0	8	2	-	1	-	-	-	9	2	4.50	255	222	1.148
2	Punjab	3	2	1	6	-	2	-	-	-	1	6	5	1.20	251	235	1.068
3	Tamil Nadu	3	1	2	3	-	-	1	1	1	-	6	8	0.75	291	306	0.950
4	Karnataka	3	0	3	1	-	-	-	1	1	1	3	9	0.33	241	287	0.839

\*\* Haryana & Punjab has qualified for Knock out round.

	Pool B														
M #	Data		Toor	22	Set		Result	per set (	points)		Total	Time			
IVI #	Date		Tear	115	Sei	1	2	3	4	5	Points	Time			
M 02	09.03.22	Kerala	Bt.	Rajasthan	3-1	25-22	20-25	25-19	25-23		95-89	95			
M 04	10.03.22	Services	Bt.	Kerala	3-0	25-16	25-22	25-15			75-53	70			
M 06	11.03.22	Railways	Bt.	Rajasthan	3-0	25-21	26-24	25-19			76-64	74			
M 08	12.03.22	Services	Bt.	Railways	3-1	17-25	25-22	25-18	33-31		100-96	118			
M 10	13.03.22	Railways	Bt.	Kerala	3-1	25-23	21-25	25-21	25-16		96-85	107			
M 12	13.03.22	Services	Bt.	Rajasthan	3-0	26-24	25-17	25-22			76-63	76			

#### **TEAMS RANKING – POOL B**

Rk	Team		Mat	ches			F	Results	Detail	S			Set	S		Points	S
ΓſŔ	Team	Ρ	W	L	Pts	3-0	3-1	3-2	2-3	1-3	0-3	W	L	Ratio	W	L	Ratio
1	Services	3	3	0	9	2	1	-	-	-	-	9	1	9.00	251	212	1.183
2	Railways	3	2	1	6	1	1	-	-	1	-	7	4	1.75	268	249	1.076
3	Kerala	3	1	2	3	-	1	-	-	1	1	4	7	0.57	233	260	0.896
4	Rajasthan	3	0	0	0	-	-	-	-	1	2	1	9	0.11	216	247	0.874

\*\* Services & Railways has qualified for Knock out round.



35<sup>th</sup> Federation Cup Volleyball Championship for Men and Women VENUE: Nagar Parishad Stadium, Bhilwara, Rajasthan 9<sup>th</sup> to 15<sup>th</sup> March 2022



### Date: 14.03.2022 (MONDAY)

# Day 6 Results (MEN)

Match No	Group	Team	Beat	Team	Set Score	Set 1	Set 2	Set 3	Set 4	Set 5	Total	Duration (Min)
M 13	SF	Haryana	Bt.	Railways	3-1	29-27	14-25	25-21	25-21		93-94	118
1 <sup>st</sup> Refe	eree : N	Ir. Narendra Kshatriya	(GUJ)	2 <sup>nd</sup> Referee : Mr. Ro	meo Sin	gh (MAN)	)	Scorer :	Mr. Nał	har Singh	n (RAJ)	

M 14	SF	Services	Bt.	Punjab	3-1	26-28	25-20	25-19	25-19		101-86	108
1 <sup>st</sup> Refe	ree: Mr.	M. Daniel (AP)		2 <sup>nd</sup> Referee : Mr. Sa	jeev Nair	(KER)		Scorer :	Mr. S. K	. Jena (O	ODI)	

## Date: 14.03.2022 (MONDAY)

# Day 6 Results (WOMEN)

Match No	Group	Team	Beat	Team	Set Score	Set 1	Set 2	Set 3	Set 4	Set 5	Total	Duration (Min)
F 09	RRL	Kerala	Bt.	Karnataka	3-0	25-16	25-17	25-11			75-44	63
1 <sup>st</sup> Refe	eree : M	Ir. Lal Chand (RAJ)		2 <sup>nd</sup> Referee : Mr. Ra	m Karan	(RAJ)		Scorer :	Mr. Ani	l Kumar (	(RAJ)	





# website of

# **VOLLEYBALL FEDERATION OF INDIA**

www.volleyballindia.com

# **Best Wishes from**



# RAJASTHAN VOLLEYBALL ASSOCIATION



MISSION

BHILWARA

# **Best Wishes from**



भीलवाड़ा जिला दुग्ध उत्पादक सहकारी संघ लि.









Gree

नगर परिषद, भीलवाड़ा